L-C-Schwingkreis Sprungantwort

inzoi= Import["d:\\Rescue\\Merken-nbs-mnbs\\Laplace_Berechnung der Netzwerkantwort\\Laplace_allgemein\\TP_3.jpg"]
importiere
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n2t= lap=p*L/Rg/ (p*L/Rg+p*2xClxL+1) x1/p;
ua[t_] = InverseLaplaceTransform[lap, p, t];

Rg = 1000; C1 = 100x~-9; O = 5x~3;
L=1/ ((2%Pixf0)"2xCl);

Plot[ua[t], {t, @, 5/ f@}, AxesOrigin » {@, @}, GridLines - Automatic, GridLinesStyle - Directive [Orange, Dashed],
PlotLabel -» " ", AxeslLabel -» {t/s, "%" /100}, PlotStyle » {Thin, Blue}, PlotRange - Full]
Plot[Clxua'[t], {t, @, 5/ f0}, AxesOrigin -» {0, @}, GridLines -» Automatic, GridLinesStyle - Directive [Orange, Dashed],
PlotLabel - "iC", AxesLabel -» {t/s, iC/ A}, PlotStyle -» {Thin, Blue}, PlotRange - Full]
Plot[1-ua[t], {t, @, 5/ f0}, AxesOrigin -» {@, @}, GridLines -» Automatic, GridLinesStyle - Directive[Orange, Dashed],
PlotLabel - "uR", AxesLabel -» {t/s, uR/V}, PlotStyle -» {Thin, Blue}, PlotRange - Full]
Plot[(1-ua[t]) /Rg, {t, @, 5/ f0}, AxesOrigin » {0, @}, GridLines - Automatic, GridLinesStyle - Directive[Orange, Dashed],
PlotLabel - "iR", AxesLabel -» {t/s, iR/ A}, PlotStyle -» {Thin, Blue}, PlotRange - Full]
Plot[(1-ua[t]) /Rg-Clxua'[t], {t, @, 5/f0}, AxesOrigin » {0, 0}, GridLines -» Automatic,
GridLinesStyle - Directive[Orange, Dashed], PlotLabel - "ilL", AxesLabel -» {t/s, ilL / A}, PlotStyle -» {Thin, Blue}, PlotRange - Full]

Clear[Rg, C1, L, lap, ua];



4 | Laplace_Ansatz_analy_3.nb

Out[25]=

%
100

Sprungantwort




Out[26]=

0.0005{

Laplace_Ansatz_analy_3.nb | 5

-0.0005




6 | Laplace_Ansatz_analy_3.nb

out[27]=

uR

0.0FOZ

0.0])06

0.0FOS



Laplace_Ansatz_analy_3.nb | 7

0.0008

out[28]= | | | | |
00006+ —or @— @ @— — - —




8 | Laplace_Ansatz_analy_3.nb

Out[29]=

iL

0.0045+

0.0040+

0.0005+




